Date:

Name: K\QM
J

4.4 Factoring Pol

nomial Functions CYU

/ 84 Use when you get it right all by yourself

S Use when you did it all by yourself, but made a silly mistake

H Use when you could do it alone with a little help fram teacher or peer .
£ Use when you completed the problem ina group

X Use when a question was attenépted but wrong (get help)

T

Period:

\ N Use when a question was not even attempted /
CONCEPTS BASIC INTERMEDIATE ADVANCED

GCF: Greatest Common Factor I 28389
Difference of Squares 2 8
Sum/Difference of Cubes 4,5
Factoring by Grouping 6; 7
Factors of Polynomials o)kl 2o S
Real-World Application 14 15
Factor the polynomial completely. Show all work to earn full credit.
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Determine whether the binomial is a factor of the polynomial. Show all work to earn full credit.
10. f(x) = 23 + 5x* — 37x — 60; x — 4 11. h(x) = 6x° — 15x* — 9x°; (x + 3)
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Show that the binomial is a factor of the polynomial. Then factor the polynomial completely. Show all work.
12. s(x) = x* + 4x> — 64x — 256; x + 4 13. h(x) = x> —x* —24x—36; x = -2

SEH) = Ojsyethetic = ()= 0; Syerhefic =

3(x)= (kD X-Dolserie)  h)* (x+2) (kL)X 13

14. MODELING WITH MATHEMATICS The volume (in cubic inches) of a rectangular birdcage can be modeled by

V = 3x®> —17x* + 29x — 15, where x is the length (in inches). Determine the values of x for which the model makes

sense. Explain your reasoning. X 73 \/ a“ {)Dﬁ h\s{ kwj‘n\ Zﬂv 1
\/ = (x-D)x-3)(3 ¥ -5)
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15. PROBLEM SOLVING The profit P (in millions of dollars) for a shoe manufacturer can be modeled by

P =- 21x> + 46x, where x is the number (in millions) of shoes produced. The company now produces 1 million

shoes and makes a profit of $25 million, but it would like to cut back production. What lesser number of shoes
could the company produce and still make the same profit?
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CYU Reflection: How far can yod go: basic, intermediate, or advanced?
Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the score you would give yourself.
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Basic Intermediate

Advanced Solved ALL!
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